a
Prove the following inequality when x 0.
X 0 eX X2 Find the number of different real solutions to the following equation
' 2 when a is a constant.
2
X X [ X 2 1
f e
2 (x) X 1 ™ N a
, & X f'(x) 0
, f 0
W o1 2 )
x 0 , f(x)  f(0) 1 X X
2 2 2 (x 1)
x2 f (X) 2 3 3
x 0 , eX 5 Q.ED X X X
limf(x) 1, limf(x) oo, limf(x) oo, limf(x) 1
X 0 ,  eX X X> oo X- 0 X- 0 X 00
y flx) y a
a o0 0 ,a O 1
a 1 2 , a 1 0
a 1 2
X 1 0
f'(x) 0
f(x) N 0 ” N
4 4
logx x3 1 X X2 a
x3  log x
3
3 %2 3 x3 1
X
x 1
3/3 ’
1 1
log Vs 3 (1 log3) O
x 0 , logx x3 Q.E.D
0 1
V3
0
~ —%—( 1 log3) ~
logx %2
X
£ (x)
f(x)




a
log(x 1) x
X
X2 a fx) x log(x 1) x 1
eX : X 2
f(x) X2 ORI x 1 x 1
: (€X)' x2  eX(x?) eX(x 2) f(x) X 2 2 0
f*(x) (x2)2 3
x 0 , log(x 1) x QED
limf(x) 0, limf(x) oo, limf(x) oo, limf(x) oo
X- oo X 0 X 0 X oo X 1 2
f a
y f(x) vy 0
2
a 0 0 0 a - 1 )
e e
@ g 2 a7 3 og(x 1) x
X 0 2
f' (x) 0
2
f(x) , N e ,
X
ex @
X
f*(x)
f(x)
x 0 e 1 X
fx) & (1 x) f'ix) e 1
x 0 , e 1 f'(x) O
fx) x 0
x 0 f(x) f(0) O
x 0 , & 1 X Q.E.D
2
X
x 0 e 1 X 5
X
f* (x)
f(x)







a
x2 a(x 2
3
f(x) < 2
() (x 2) B(x 2)
f' (x) x 2?2
3 6x2 X8 2x%2(x 3
(x 2)? (x 2
limf(x) oo, limf(x) oo, limf(x) oo, limf(x) oo
X, oo X2 0 X2 0 X_ 00
y fx) vy a
a 27 3 , a 27 2
a 27 1
X 0 2 3
£ () 0 0
f(x) N 0 N N 27 ”
x3 ax 2 0
X
f*(x)

0 sin x
f(x) sin x
f'(x) 1  cosx
f(x)
X f(x) f(0) o
0 X Sinx Q.E.D
1
L w2
X CO0S x 1 5 X
X sinx x %x:*
X eX 1 x




ax logx
F(x) Io)gg X , « 0
, (log x)' x  log x (x)' 1 log x
f* (x) 2 2
f'(x) O logx 1 X e
limf(x) oo, limf(x) 0
X- 0 X - 00
y fx) vy a
a % 0 , a % 1
0 a —%— 2 , a 0 1
X 0 e oo
f' (x) 0
£(x) e 0

ax (logx)?

f(x) a b4c X Vabecx
ab X Yabex
a,b,c x 0
4
f'(X) 1 1 \/abc X 0 3abC
4 4 /3
f'(x) 0 +
4
L(a \/abC) f(x) . ,
4 /%3
f'(x) O x 3abec
3/
f/abc) a_b C4 abc Vabciabe
3
ab c4 abc Yabe
ab c 33\/abc
4
A Va .,B ¥b ,c {c
ab c 33\/abc A3 B3 C3 3ABC

4 4

%(A B C)(A? B®> C> AB BC CA)
54 B O B? (B ¢ (C A’} 0
w Yabcx Q.E.D
f(x) a g X Vab x
a g X $/abx




